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Parallelogram Proofs with Additional Tools

1. Given: Rhombus AECB, £FAB = /DCB
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2. Given: ABCD is a parallelogram, AF = GC, BH = DE oS = 6
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3. Isosceles trapezoid ABCD has bases DC and AB with nonparallel legs AD and BC. Segments
AE, BE, CE, and DE are drawn in trapezoid ABCD such that ZCDE = Z/DCE, AELDE , and
BELCE.

Prove AADF = ABCE and prove AAEB 1s an isosceles trlang
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4. In the diagram of parallelogram ABCD below, BE LCED, DF LBFC, CE = CF.
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5. Given: QUIK is a parallelogram, ZQUI = ZKIU

Pr;ve QUIK is a rectangle 3 )r(,\ l{m(m JFS 5@ Q ; O//) X
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6. Given: Rhombus ABCD, BL=CM , AL=BM - )\UM b pare reckail paoe (Lj
Prove: ABCD is a square///__;
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7. Given: AE=CG, BE=DG, AR =CF , AD=CB
Prove: EF;GHL/\SL@L@W")H m
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%@ 8. Given: Parallelogram ABCD, BFLAFD, and DE L BEC
\R\%Prove: BEDF is a rectangle @FAAE.FJ‘ACQ
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